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Solution 7.1

al. =30 (aindB/km )

BDP=80 Gbps-km=80,000 Mbps-km
L=80,000/500=160 km.

a = -2 =0.188 dB/km

160
Solution 7.2
-16 dBm output power with FWHM=50 nm. -48 dBm receive power required for 50 Mbps = 32
dBm loss budget. The maximum distance imposed by the BDP is 500/50=10 km. With 2 dB of
loss per km, 32-20=12 dB is available for tap loss. Thus, 12/0.4/10=3 taps/km.

Solution 7.3

mB 1P minimum density =1/(m+1). Maximum density is 1 for m even and m/(m+1) for m odd.

mB1C minimum density =1/(m+1). Maximum density is m/(m+1).



